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1 0.1 mol/L ( H,C,H,0,)
pH=13 NaOH pH
6 ¢ HC,H,O,) +2¢(CHO0;") = .(

)
0.1 mol/L pH =13
NaOH 0. 05 mol/L
NaHC,H, O, ¢( HC,H,0,)

+2¢(C,H,0;7) +¢(OH") = ¢(Na") +¢(H")
¢(HC,H,0,) +2¢(C,H,0;7) =¢c(Na") +

¢(H') — ¢ (OH ) = (0. 05 + 10°° -
10 %) mol /L.
2 0.2 mol *+ L™ HCI
0.2 mol « ™" MOH (
) pH =6
( ):
@e(Cl7) —e(M™) =
@c(H") —¢(MOH) =
HCl MOH
MCl pH =6 )
cl- M (M)

+¢(H") =¢(Cl7) +c¢(OH™)
c(Cl™) =¢(M™) =¢c(H") —=c(OH") pH=6
¢(H") =10 "° mol/L ¢(OH") =10"° mol/L ¢( Cl")
—¢(M*") =¢(H") =¢(OH") =10"° mol/L - 10*
mol/L=9.9 x10 "mol « L™". @ MOH
Mcl M* OH"
o(H") #¢(OH™) M*' +H,0=—=MOH
+H" ¢c(H") =¢(OH") +
¢( MOH) c(H") —¢(MOH) =c(OH") =
1.0x10 *mol = L',
2:
3 25°C
ymol e L™

x mol * L7

(163813)

ol NH;)
x Y

20(S07) ( “57, t<” “=7);

2¢(S0:7) +¢(OH") ¢( NH;")
=2¢(S0;7) .
K =c( NH,;) - ¢(OH™)
¢( NH, * H,0)
25°C ¢(OH") =107’

1L c¢(NH;) =2¢(S0;) ¢(NH;) =
¥/2mol /L,

(x = 2y) mol

NH, * H,0——NH, + OH~ NH, +H,0 —=NH,
H,0 +H" ¢(NH, * H,0) =(x-2y) /2 - ¢( )
o)

o ) =d

+

) ¢(NH; « H,0) =(x-2y) /2.

K _¢(NH) - ¢(OH") -
« T T 4NH, +H,00

3:
4 1 1i,CO, K,
1.68 x107° Li, CO, 100 mL
Li,CO, o(Li") =
0.15mol * L™ ¢(CO3") =0.075 mol « L™ ¢,
100 mL 0. 125 mol * L™
Na,CO, £ L' o
( €o;7)
R
/mol/L
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100 mL 0. 125 mol * L' Na,CO,
(L") . e(CO)
¢(Li*) =0.075 mol * L™ ¢(COZ") =0.1mol + L™
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e(Li*)?xe(COT7) =5.6x107" <K

. 2 c (L") =
0.075 mol * L' ¢(CO3") =0.1mol « L'
2 .
W
/mol/L
0.15
0.075f,
0]
2
1. 0.20 mol « L™ HA
0.10 mol « ™" NaOH (
) pH =8
(1) .
(2)
( ) -
@c(Na®) —¢(A7) =
@ec( A7) +e(HA) =
@e(HA) —c(A7) =
2. ( HN;)
3
25 mL 0.1 mol * L.”' NaOH 0.2 mol
«L7"  HN, pH (
) B pH =
8 ).

0125 13 %

3
3. (
).
G G
AG
(1) o
(2) I .
(3) 4 X  25C

amol* L™ X bmoleL"' ¢
L a b
X -
4. Ag,S0, K, 2.0x 107°
Ag, S0, 100 mL
Ag"  SOI” 5 (
Ag,S0, c(Ag”) =0.034 mol/L). 1,
100 mL 0. 020 mol/L Na,SO,
i Ag”
( )

0 i M e]

0 h B 1]

1L.(1)A HA

(2)®9.9%x10" mol * L™";
20.10 mol « L7;

®31.98 x10° mol « L',
2.10°-10"% 9.9x107’

3.(1)Na” © 0: 0: *Na®

(2) 4NH, +50, =———4NO +6H,0

(3)¢(NO;) =c(NH,") >c(OH™) =¢(H");
bx10~’
k= a-b

4.B ( 12014 - 06 — 12)



